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a1, a2, a3, · · · , a7, · · · , a10.
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4.1 ����������

������
 40 �������!!�	�"�2���
�

 �
�"J���������������2�
 � 1 �

40 ��	�,�����#��)����� #!�>1��

�� ������2���"JA��B��
��B�K&�

����-.�������

����+�;2���"JA� 1, 3, 9, 27�� #� m��

���>11�,��Æ� �������� m + 9 = 3 + 27�

	
��� #� m = 3 + 27 − 9 = 21 ��

m 9 3 27

� �����������������

1

�������� 1 ��������	�!��>1��Æ�

 ������
�L	�Æ� �����) �������

	��	 #� m ����

m = 0 · 1 + 1 · 3 + (−1) · 9 + 1 · 27

��4��� � 0 ���,�M� ����� � 1 ���

,�!�� ���� � −1 ���,�!�� ����

������������

 ���� 1, 3, 9, 27��2
���� �� 1� 40��	�,

���� #�

�

� 1�������!�� ��Æ� ��� �������
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���3, 9, 27 �����	�A������!����2��

����

3 · 3 · 3 · 3 = 81

�!����
3�������

� 2����� ��� #����

� �� m � #����	���� ���

� �� #!��� ���� #������������

 ����
�-�3�� ����
���� 81 ���

!�����������

	 1, 3, 9, 27��2
���!�� ��� #�������

m = 1 + 3 + 9 + 27 = 40.


�����2����� ���� #�������� �

����

��
� ���
 m ���	���� ����,�

m = a0 · 1 + a1 · 31 + a2 · 32 + a3 · 33 = b0 · 1 + b1 · 31 + b2 · 32 + b3 · 33

�	����� ai � bi��� ai � bi �� −1, 0, 1�����	

m �� 3�� ai ���� a0�� bi ���� b0��� a0 = b0�

		4A < a0 = b0�$�� 3 �

a1 · 1 + a2 · 31 + a3 · 32 = b1 · 1 + b2 · 31 + b3 · 32.

����� 3�!�����a1 = b1����� a2 = b2, a3 = b3�

�-��	�,��� m � �����	��������

���
 �����2
����!��Æ� ������

� #�� # m = 0�>1�1������!����,��

�!���� �9���
�� �9����� 81 ���!

���� ����
�7�� ����
��!��

81 − 1

2
= 40
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���� 40 ������!����� #����!

 #������� #!�� ���

�� ����� ���81 ���
!�4��� 40 ���

 �� ��� #���
�
� ������������

D� 1� 40 ��	��
��� ���� 1, 3, 9, 27��2
�

��� �� 1 � 40 ��	�,���� #��� ����

������ �

��K&�����-.��������'�2<����

#N�

(1) �� m = 25 �� #�	
��

25 = a0 · 1 + a1 · 31 + a2 · 32 + a3 · 33

������! a0, a1, a2, a3 ��� −1, 0� 1���		��

� 3 ���
�� 1 � a0�2 a0 = 1�����4�F��

8 = a1 · 1 + a2 · 31 + a3 · 32.

���� a1 = −1, a2 = 0, a3 = 1�2

25 = 1 · 30 − 1 · 31 + 0 · 32 + 1 · 33,

��	�+���

m 3 1 27

9

(2) ��	 (1) �����!� ���	���� 3 ��
!

m = 25 ��+4��� 25 � 3 ���+��

1 · 30 + 2 · 31 + 2 · 32.
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	�+��� � 2 � −1 + 3 ",���

25 = 1 · 30 + (−1 + 3) · 31 + (−1 + 3) · 32

= 1 · 30 − 1 · 31 + 1 · 32 − 1 · 32 + 1 · 33

= 1 · 30 − 1 · 31 + 0 · 32 + 1 · 33,

�
� m = 25 ��+4�

(3) ��-.������������ ����

1, 31, 32, 33, · · · , 3n

�� n + 1 
���� �� 1 � 3n+1−1
2 ��	�,����

 #�

(4) �
�� � 1, 3, 9 ��������� �� 1 � 13 ��

	�,���� #�

4.2 ���������

�� 4 	

1, 2, 3, 4, · · · , 13
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�"
�� � 
 ��,	
�"!���� ��

�������>	��
�	���
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����/��/�%����"���������Ǳ����

��C"	/�����-.������	
�������
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����%����


��Ǳ�

�������Ǳ�

��-.������-��	�� 1 = 30, 3 = 31, 9 = 32 ���


�� � 1, 2, 3, · · · , 13 ���
�"���

2 = −1 · 30 + 1 · 31 + 0 · 32;

12 = 0 · 30 + 1 · 31 + 1 · 32.
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���,��>1+����
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12 3 9 2 1 3

�+�����m = 2 � 12 ��	�� �������� 3�

�	
�� ������

���������
��� �

������ 1, 3, 9 �����	 1 � 13 ��+��� ���

���
����

� ����� � �� #� m

1 = 30 �Æ�Æ�Æ�

3 = 31 �Æ�Æ�Æ�

9 = 32 �Æ�Æ�Æ	Æ


	 �Æ�Æ�Æ�Æ� �����
�������� ��	

��

���
 ��,	
�"!���� ���
��	

����>1�
!���
�����
� m = 12) m = 2�

�����+������	��
��
 �� ������

3 �� ���	�! 10 = 12 − 2 
��� ���Ǳ�	
+

��� ����� 3����Ǳ	����	�! 10 = 12 − 2

���	��$��
��
 �

10 1 9

�� 5 	

1, 2, 3, 4, · · · , 40
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